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QUESTION 1
Which code must you use to increase the cardinality of the ASM in the cluster?

A. [root@016r02 bin]# ./srvctl add asm -count 1[root@016r02 binJ# ./srvctl modify asmASM home:
/u01/app/12.1.0/gridPassword file: +DATA/orapwASM ASM listener: LISTENER

ASM instance count: 1

Cluster ASM listener: ASMNETILSNR_ASM

B. [root@016r02 binJ# ./crvctl modify asm -count 1[root@016r02 bin]# ./crvctl add asmASM home:
/u01/app/12.1.0/gridPassword file: +DATA/orapwASMASM listener: LISTENER ASM instance count: 1 Cluster ASM
listener: ASMNETILSNR_ASM

C. [root@016r02 bin]# ./srvctl modify asm -count 1[root@016r02 bin]# ./srvctl config asmASM home:
/u01/app/12.1.0/gridPassword file: +DATA/orapwASMASM listener: LISTENER ASM instance count: 1 Cluster ASM
listener: ASMNETILSNR_ASM

D. [root@016r02 bin]# ./crvctl modify asm -count 1[root@016r02 bin]# ./srvctl config asmASM home:
/u01/app/12.1.0/gridPassword file: +DATA/orapwASMASM listener: LISTENER ASM instance count: 1 Cluster ASM
listener: ASMNETILSNR_ASM

Correct Answer: C

QUESTION 2
Identify the incorrect statement about server pools.

A. Server pools divide a cluster into logical groups of servers in which the application can be a database or non
database.

B. An application is considered a singleton when it runs on a single server in a pool. The database administrator must
use the CRSCTL utility to create and manage clusters that contain Oracle RAC databases

C. Oracle Default Server Pools are defined as FREE and GENERIC Server Pools.

D. Database administrators can create and manage server pools that will contain Oracle RAC databases by using the
SRVCTL utility.

Correct Answer: C

QUESTION 3
Which statement about the srvctl modify instance command is correct?

A. For a policy-managed database, this command defines an instance name to use when the database runs on the
specified node.

B. For an administrator-managed database, this command restores the configuration of a database instance
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C. You can use this command to rename or relocate a running instance.
D. This command is only available with Oracle RAC One Node.

Correct Answer: A

QUESTION 4

You are talking to the network admin team about the Interconnect network in Oracle RAC and Clusterware. Which
statement about the Private interconnect interface is incorrect?

A. Oracle RAC and Oracle ASM instances use the private interconnect for inter-instance communication.

B. Oracle Clusterware uses the private interconnect to exchange Clusterware-related messages among its nodes.
C. It supports both IPv4 and IPv6.

D. It supports redundant network interfaces for load balancing and high availability.

Correct Answer: C

QUESTION 5

To configure the network in preparation for installing the Oracle Grid Infrastructure for a cluster, a number of tasks have
been listed.

1.

Assign a public and private IP.

2.

Define a SCAN that resolves to six IP addresses in your DNS.
3.

Assign a virtual IP on a different subnet from the public

4,

Identify the interface and IP addresses for only the first node in your RAC
5.

Determine your cluster name

6.

Assign a Virtual IP on the same subnet as your public IP.
Identify the correct order of the tasks that apply to this effort.

A.1,2,3,4,56
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B.1,5,6
C.2,4,6
D.1,4,5,6

Correct Answer: B
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